22

3.

Which one of th

o

The major route that Cyclobutanone follow: {
L»_\c‘[.‘.\‘i?"?‘ﬂ’l\‘"?.llia_ b. hydrogen
€. Iive membered ring formation d. | hree members

1 he m. 11O

reaction

Barton |

]

,‘\":{ui:r.-n-\x"rf De

ACl1on occurs

{ 1(8)

1040

[ (

[11] }[
1 1
TO] )]

product

—~ 5| corre

1)
[ron
)

N

MSC

JUSE \n‘:,|r.1.;v}_\._u] JECTIVE |

ponds to

=~ 3y correspondsto «

301 [SPECIAL |

\

'iiﬂ_l:t»v.ﬂ ngs 1s correc!

~“HE

fL Objective |

from the following:

one in Kcal/mol 1

s in Noris

ned trom the following molecule

)
eI
lem

SIrot

upon photolysis on

D. nitrite

. organic nitrales

] » il
[ !
] 1) 105
v J}
] U 1)

'l

Lion



the anomeric




silyvlated heterocycle
A»iz,»L.VI['.u‘!;ijU the formation o
d b. The fusion
. none of th
e another by phosp

ol one nu«

b. E ] Corey

d. H O House
ymelric synthesis is

Hal H80,

e metal
b. Mg

d.Cu

f—{-t\].{i“\‘-{:“_3,]",-1?\‘{3\‘,{3)-i"if")- asymmelric l';'\r(itla';'_k::'p.ih(s)n consist ol
b.Ir
d. W

| DX Aﬂ‘\[;'n}‘r\._t.i:{’ﬂ‘» !u_;{il irfn_lfg“_:hlﬁlF‘H‘i;‘a.a-y:{gio}ia dation is
CrO. b. 'BuOOH

wels .
. CF:COOH d. KMnO,







2. a. Wi e products of the following reactions wi

hv

——— Products

. .

Explain with justi
compound involves in the a-clea
reaction. S

c. Write the probable r
with justification

® Meon = Products (i)

7 2

b.







the products X and Y in the following

ic reactions.

Product

structure of \ﬁ:\’); _(:x{-.;(\'(‘k\')!‘",\} )2(BIN AP) and

DAC)2(BINAP)

L

¢. Write down the product X and Y

t-BuOOH, D-(-)DET,
Ti (O-iPr)4

t-BuOOH
Ti (O-



and x}[.;d!‘fgl}{:' \‘Ja'(:—‘

ound.

USTM/COE/R-01




